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Rational Zero Test
Possible rational zeros- relates the leading coefficient and the constant term of a polynomial
o o Rational Zeros Test & Descartes Rule o . . factors of the consant term
Try This: Given the followmg functlons evaluats Possible Rational Zeros = Factors of leading coef ficient
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fe=0< (" x H(—X) bl ( K) h(- x) (_)()~1 k(=x) < ( x§ n(-x) = é'y **When the leading coefficient is 1, possible rational zeros are the factors of the constant term,**
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**ignore the directions and do the following

a) Descartes Rule
b) find all possible real zeros with the rational zero test

c) test and find the real zeros
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